[bookmark: _Toc415649027][bookmark: _Toc469398931][bookmark: _GoBack]Food Magnate Simulation

Programming Tasks – Suggested Mark Scheme
Note that the following are recommended solutions, and not an exhaustive list of all possible solutions to each task.  The marking guidance should be used as a guide only.  Discretion should be used in awarding credit where alternative solutions are given.

Task 1	(max. 6 marks)
1 mark	loop set up in ModifyCompany to repeat until something other than 'C', '1', '2' or '3' is entered
1 mark	loop must contain call to menu display and user input, and must not begin with choice uninitialised
[image: ]
1 mark	selection statement to catch entry of an upper-case 'C'
1 mark	‘operation cancelled’ displayed within selection clause
1 mark	all inputs, old and new, dealt with correctly
[image: ]
1 mark 	screenshot showing 'X' causing a repeat of the loop and 'C' causing redisplay of main menu:
[image: ]
Task 2	(max. 9 marks)
1 mark	Boolean or equivalent to store whether a collision has occurred
1 mark	outer loop attempts to continue until valid location is found, even if unsuccessful (intent must be clear)
1 mark	random location generated inside outer loop
1 mark	inner loop to iterate through Households list
1 mark	selection statement to determine whether location is already occupied
1 mark	flag set in inner loop to store that a location was already occupied
1 mark	Boolean (placed in this code) set to reflect no collision occurring
1 mark	when outer loop ends, X and Y will always represent a non-colliding location
[image: ]
1 mark	eight household locations are all different:
[image: ]

Task 3	(max. 7 marks)
1 mark	new subroutine declared correctly in the Outlet class
1 mark	MaxCapacity multiplied by the parameter (name of parameter unimportant)
[image: ]
1 mark	call to generate a random number that could be appropriate to the 40/35/25 distribution in ExpandOutlet
1 mark	probabilities are actually 40%, 35% and 25%
1 mark	correct parameter passed to ExtendCapacity in all circumstances
1 mark	only output message in these circumstances is 'outlet max capacity expanded'
[image: ]
1 mark correct message output, and Paltry Poultry outlet 4 max capacity doubled, tripled or quadrupled:
[image: ]
[image: ]
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Task 4	(max. 8 marks)
1 mark	new subroutine, correct name, type and parameters in the Settlement class
1 mark	integer to store number of leavers
1 mark	loop to iterate over all households
1 mark	selection structure, based on 2% probability
1 mark	removal of household from list, inside selection clause
1 mark	integer variable incremented inside selection clause, and returned after loop
[image: ]
1 mark	call to ProcessLeavers as the final instruction in ProcessDayEnd
[image: ]
1 mark	screenshot displays number of households removed, which might be the number by itself (i.e. without the text 'households left the settlement') and/or zero:
 [image: ]



Task 5	(max. 7 marks)
1 mark	new input message within code executed when user enters '3'
1 mark	loop to iterate over all companies in the list
1 mark	output to contain call to company's GetName subroutine
1 mark	output to display 1-based indices instead of 0-based indices
1 mark	user input stored in the index variable
1 mark	user input decremented
[image: ]
1 mark	user input should now be based on a list, with outlets numbered 1, 2, 3; final outlet of 'Paltry Poultry' should have a capacity equal to its max capacity:
[image: ]
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Task 6	(max. 5 marks)
1 mark	subroutine correctly declared as a constructor
1 mark	correct parameters declared
1 mark	XCoord and YCoord set to random integers between 0 and MaxX/MaxY inclusive
[image: ]
1 mark	the rest of the subroutine executes as normal.  A. call to a new subroutine (to which existing constructor 	might call) that contains the extra lines. R. if call is made to other constructor.
[image: ]
1 mark	screen capture shows values for outlet coordinates that are all 10 or lower:
[image: ]



Task 7	(max. 7 marks)
1 mark	option 5 correctly added in DisplayMenu
[image: ]
1 mark	selection structure in Run captures an input of 5
1 mark	any suitable prompt for the user to enter a number of days
1 mark	integer variable set to user input
1 mark	loop that runs the correct number of times
1 mark	call to ProcessDayEnd inside the loop and no other code
[image: ]
1 mark	three days' worth of financials and events should be displayed, although if the previous balance for Paltry 	Poultry is anything other than 17000, and would match code, credit can be given:
[image: ]


Task 8	(max. 9 marks)
1 mark	prompt updated to include reference to '4' generating a random company
1 mark	loop updated to include '4' as a terminating condition
[image: ]
1 mark	updating selection structure to ensure 3 results in 'named chef'
1 mark	addition to selection structure to catch 4 or 'else' (i.e. not 1, 2 or 3)
1 mark 	random number generated, even if likelihoods are not evenly distributed
1 mark	selection structure sets restaurant type according to random number
1 mark	three company types are equally likely to be created
1 mark	additional code does not impede code from the Skeleton Program
[image: ]
1 mark	input of '4', 'Random Restaurant' and '50000', resulting in a company of any type being created
[image: ]
[image: ]

Task 9	(max. 6 marks)
1 mark	new subroutine created, with no parameters and no return
1 mark	loop to iterate over all outlets in the Outlets list
1 mark	call to CloseOutlet for each outlet
[image: ]
1 mark	selection statement in ProcessDayEnd to check for balance of less than zero, immediately before return statement
1 mark	call to CloseAllOutlets in selection structure
[image: ]
1 mark	entering '2' in the main menu should reveal that 'Bankrupt Burgers' has no outlets:
[image: ]


Task 10	(max. 11 marks)
1 mark	class definition, which includes inheritance
1 mark constructor correctly declared, with two parameters
1 mark	call within constructor to the Outlet constructor, passing correct values
1 mark	Move subroutine declared
1 mark	random number generated
1 mark	selection statement uses four different possible values of random number
1 mark	each of north, south, east and west correctly simulated
[image: ]
1 mark	either creation of loop to iterate through outlets in ProcessDayEnd subroutine, or an attempt to use the existing loop to call move, even if syntactically invalid
1 mark	selection statement to check whether an outlet is an instance of a FoodTruck
1 mark	move subroutine called for all FoodTruck objects and only FoodTruck objects
[image: ]
1 mark	screen captures show a difference of 1 in either X or Y coordinates between days:
[image: ][image: ]
[image: ]
Task 11	(max. 15 marks)
1 mark	data structure created to store indexes
1 mark	selection structure has been changed from 'equals' to 'contains' or equivalent
1 mark	inside selection structure, adding the index to the data structure
[image: ]
1 mark	selection structure to check for only a single match, A. if 'else' by process of elimination
1 mark	correct index returned for a single match
[image: ]
1 mark	selection structure to check for multiple matches, A. if 'else' by process of elimination
1 mark	prompt for user entry, either before or after attempt to display matches
1 mark	loop to iterate through all matches in an attempt to display them
1 mark	name of each matching outlet displayed
1 mark	user input requested only if multiple matches have been found
1 mark	loop to iterate through the matches in an attempt to compare with user input
1 mark	comparison ('equals', not 'contains') is made inside the loop, with case ignored
1 mark	correct index returned in the event of a match
1 mark	value of -1 returned if no matches are found or if second entry does not match
[image: ]


(continues on next page)

1 mark	screen capture displays 'Paltry Poultry' and 'Ben Thor Cuisine', with 'Paltry Poultry' entered and accepted:
[image: ]

Task 12	(max. 7 marks)
1 mark	outlet with a matching ID is accessed
1 mark	number of seats is set to a call to GetCapacity
1 mark	selection structure uses Category attribute of the Company class
1 mark	cost per seat is set correctly for all categories
1 mark	balance is decremented by the cost per seat multiplied by the number of seats
1 mark	the original code, to remove the outlet and check for zero outlets, should run unchanged
[image: ]
1 mark	current balance of Paltry Poultry should change from 17000 to 8000, and there should be one outlet fewer:
[image: ][image: ]


Task 13	(max. 8 marks)
1 mark	additional line added to DisplayMenu with correct number and text
[image: ]
1 mark	addition of '5' to the selection structure in run
1 mark	prompt for company name and storage of user input in a string variable
1 mark	selection structure to check whether the index either is or is not -1
1 mark	removal of company at the correct index, only if the index is not -1
1 mark	loop will terminate if the loop is not -1
1 mark	loop will terminate if 'cancel', in any combination of upper case / lower case, is entered
[image: ]
1 mark	entering 'CANCEL' returns user to the main menu; entering 'Paltry Poultry' results in only two companies being present in the simulation – AQA Burgers and Ben Thor Cuisine:
[image: ][image: ]



Task 14	(max. 20 marks)
1 mark	GetBalance declared in the Company class, with no parameters and correct type
1 mark	correct return statement, R. if any additional code
[image: ]
1 mark	additional option added to DisplayMenu
[image: ]
1 mark	selection structure modified to include '5'
1 mark	call to new RunToTarget subroutine if '5' is entered
[image: ]
1 mark	new RunToTarget subroutine declared
1 mark	user prompted for an upper limit and a lower limit
1 mark	each user input stored as a separate integer
1 mark	variable names UpperLimit and LowerLimit used as instructed
1 mark	variables for number of days, balance and company name, of appropriate types, declared
[image: ]
1 mark	loop to run until a balance is equal to or above the upper limit, or equal to or below the lower limit
1 mark	loop to iterate over each company in the simulation
1 mark	comparison with both upper and lower limits
1 mark	call to ProcessDayEnd once within each iteration
1 mark	no call to ProcessDayEnd if a balance has already reached termination condition, including if the 	termination condition was already reached by the start of the first loop (i.e. zero days should be a possibility)
1 mark	number of days incremented within each iteration


(continues on next page)

[bookmark: _Hlk25350907]1 mark	calls to GetName and GetBalance have occurred before loop terminates
[image: ]
1 mark	values for the company's name and balance, and the number of days, are output
1 mark	output values are correct under all circumstances
[image: ]
1 mark	screen evidence showing that multiple days have passed, and the balance is either >= 100000 or <= 0:
[image: ] 
 


Task 15	(max. 14 marks)
1 mark	class definition with correct identifier, which inherits from LargeSettlement
1 mark	valid constructor with three integer parameters
1 mark	valid call within constructor to constructor of superclass
1 mark	subroutine AddHousehold declared with Overrides modifier
1 mark	generation of random number, within AddHousehold, between 2 and 20 inclusive
1 mark	generation of random X and Y coordinates within the settlement (easiest via a call to the Settlement class's GetRandomLocation subroutine, but any valid approach can be credited)
1 mark	loop set up that will iterate once for each household in this location (integer between 2 and 20)
1 mark	each new household, within the loop, added to the Households list
[image: ]
[bookmark: _Hlk25503104]1 mark	Overridable modifier added to pre-existing AddHouseholds subroutine
[image: ]

(continues on next page)

1 mark	first prompt of the simulation amended to allow user to select a city settlement
1 mark	user selecting a city settlement results in prompts for additional X and Y coordinates and number of households
1 mark	user selecting a city settlement results in call to CitySettlement constructor
1 mark	other inputs should continue to work as previously (i.e. new code does not disrupt old code)
[image: ]
1 mark	screen capture should show consecutive households at the same location
[image: ]
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Public Sub GetRandomLocation(ByRef X As Integer, ByRef Y As Integer)
Dim placed As Boolean = False
Dim collision As Boolean

While placed = False

collision = False
X = Int(Rnd() * XSize)
¥ = Int(Rnd() * V¥Size)

For count = @ To Households.Count - 1

If Households(count).GetX

Households (count) .GetY
collision = True

End If
Next.
If collision = False Then
placed = True
End If
End While

End sub
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Public Sub ExtendCapacity(ByVal Multiplier As Integer)
MaxCapacity *= Multiplier
End Sub
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If Result = Change Then
Console.uriteLine("Capacity adjusted.”)
Else
Dim Multiplier As Integer = Int(Rnd() * 10)
If multiplier < 40 Then
Outlets(ID). ExtendCapacity(2)
ElseIf Multiplier < 75 Then
Outlets(ID). ExtendCapacity(3)
Else
Outlets(ID). ExtendCapacity(4)
End If
Console.uriteLine("Outlet max capacity expanded”)
End If
End sub
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Enter 1D of outlet: 4
Enter amount you would like to expand the capacity by: 1060
Outlet max capacity expanded
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Public Function ProcessLeavers() As Integer
Dim Leavers As Integer = @
For index = @ To Households.Count - 1
If Int(Rnd() * 10@) < 2 Then
Households . RemoveAt (index)
Leavers += 1
End If
Next.
Return Leavers
End Function
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DisplayCompaniesAtDayEnd()
DisplayEventsatDayEnd()
Console.WriteLine(SimulationSettlement. Processieavers() &

" households left the settlement”)
End Sub
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Case "3"
Do
Console.uriteLine("Enter the number next to the company you wish to modify:

For 1 = @ To Companies.Count - 1
Console.briteline((i + 1) & ": " & Companies(i).getName())

Next.

Index = Console.Readline() - 1

Loop Until Index <> -1

HodifyCompany (Index)
Case "a"
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1. Display details of households
2. Display details of companies
3. Modify company

4. Add new company

6. Advance to next day

Q. Quit

Enter your choice: 3
Enter the number next to the company you wish to modify:
1: AQA Burgers

Ben Thor Cuisine

: Paltry Poultry
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Public Sub New(ByVal MaxX As Integer, MaxY As Integer,
MaxCapacityBase As Integer, IsRandom As Boolean)

XCoord
Ycoord

Int(Rnd() * (MaxX + 1))
Int(Rnd() * (MaxY + 1))
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Capacity = Int(MaxCapacityBase * 9.6)
HaxCapacity - MaxCapacityBase + Int(Rnd() * 50) - Int(Rnd() * 50)
DailyCosts - MaxCapacityBase * 0.2 + Capacity * 0.5 + 100
NewDay()

End Sub
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Name: Paltry Poultry
Type of business: fast food
Current balance: 17006
Average cost per meal: 5
Average price per meal: 10
Daily costs: 160

Delivery costs: ©.67916134
Reputation: 98.63483

Number of outlets: 4

Outlets
1. Coordinates: (2, 3)  Capacity: 120
2. Coordinates: (6, 6)  Capacity: 126
3. Coordinates: (1, 8)  Capacity: 120

4. Coordinates: (3, 9)  Capacity: 120
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Console.WriteLine(’
Console.uriteLine("s. )
Console.WriteLine("6. Advance to next day")
Console.uriteLine("Q. Quit")

company™)
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Case
AddConpany()
Case "5”

Console.urite("Enter number of day:

")

Dim Number0fDays As Integer = Console.Readline
For x = 1 To Number0fDays

ProcessDayEnd()
Next.
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Paltry Poultry

Daily costs for company: 106
Cost for delivering produce to outlets: 116.3032

Outlet 1 profit/loss: -180
Outlet 2 profit/loss: -45
Outlet 3 profit/loss: -195
outlet 4 profit/loss: -155

Previous balance for company: 15344.39
New balance for company: 14559.69
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Do
Console.urite("Enter 1 for a fast food company, 2 for a family company, " &
"3 for a named chef company or 4 for a company chosen at random:

TypeofCompany = Console.ReadLine()
Loop Until TypeofCompany = "1" Or Type0fCompany
TypeofCompany = "3" Or TypeofCompany

" or
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ElseIf TypeofCompany
TypedTCompany =
else
Din companyType As Integer = Int(Rnd() * 3)
1 conpanyType - © Then
Typeotcompany
Else1f conpanyType
typeotconpany
else
Typeotcompany
end 1F
end 1
Sinulationsettlenent. GetRandomLocation(X, v)
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Enter a name for the company: Random Restaurant
Enter the starting balance for the company: 56006

Enter 1 for a fast food company, 2 for a family company,

3 for a named chef company or 4 for a company chosen at random:
a
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Name: Random Restaurant
Type of business: named chef
Current balance: 35006
Average cost per meal: 26
Average price per meal: 40
Daily costs: 160

Delivery costs: @
Reputation: 104.639
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Public Sub CloseAlloutlets()
For current = @ To Outlets.Count - 1
CloseOutlet(current)
Next.
End Sub
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Balance += ProfitlossFromoutlets - DailyCosts - DeliveryCosts
Details & “New balance for company: " & Balance.Tostring()
If Balance < @ Then
Closealloutlets()
End If
Return Details
End Function
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Name: Bankrupt Burgers
Type of business: family
Current balance: -159
Average cost per meal: 12
Average price per meal: 14
Daily costs: 160

Delivery costs: @
Reputation: 164.545

Number of outlets: @
outlets
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Class FoodTruck.
Inherits Outlet

Public Sub New(XCoord As Integer, YCoord As Integer)
MyBase. New(XCoord, YCoord, 10)
End Sub

Public Sub Move()
Dim direction As Integer = Int(Rnd() * 4)
If direction = @ Then
XCoord += 1
ElseIf direction = 1 Then
XCoord -= 1
ElseIf direction = 2 Then
YCoord += 1
Else
Ycoord
End If
End Sub
End Class

1
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For Current = @ To Outlets.Count - 1
If Outlets(Current).GetType Is GetType(FoodTruck) Then
Outlets(Current).tove()
End If
Next.
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Name: Taco Truck
Type of business: fast food
Current balance: 28355.0
Average cost per meal: 5.0
Average price per meal: 10.0
Daily costs: 100.0

Delivery costs: 0.0
Reputation: 93.62324

Number of outlets: 1
outlets
1. Coordinates: (594, 285)
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Enter number of companies that exist at start of simulation: 1
Enter a name for the company: Taco Truck

Enter the starting balance for the company: 30000

Enter 1 for a fast food company, 2 for a family company or 3 for a named chef company: 1
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Name: Taco Truck
Type of business: fast food
Current balance: 25000.0
Average cost per meal: 5.0
Average price per meal: 10.0
Daily costs: 100.0

Delivery costs: 0.0
Reputation: 93.62324

Number of outlets: 1
outlets
1. Coordinates: (595, 285)
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Dim indexes As New Arraylist

For current = @ To Companies.Count - 1
If Companies(current).GetName(). ToLower (). contains (CompanyNiame . ToLower()) Then
indexes.Add(current)
End If
Next
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If indexes.Count = 1 Then
Return indexes(@)
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ElseIf indexes.Count > 1 Then
Console.WriteLine("Please enter one from the followin
For i = @ To indexes.Count - 1

Console.WriteLine(Companies (indexes(1)). Gethame ()
Next.
Dim input As String = Console.ReadLine()
For i = @ To indexes.Count - 1
If input.ToLower().Equals(Companies (indexes(1)). GetName() . ToLower()) Then
Return indexes(i)
End If
Next.
End If

Return -1
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4. Add new company
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Q. Quit

Enter your choice: 3
Enter company name: t
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2. Close outlet
3. Expand outlet

Enter your choice:
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Public Function CloseOutlet(Byval ID As Integer) As Boolean

Dim o As Outlet = Outlets(ID)

Dim seats As Integer = o.GetCapacity()

Dim costPerSeat As Integer

If Category = "fast food” Then
costperseat = 75

ElseIf Category = "family” Then

costperseat = 50
Else
costperseat = 150
End I
Balance -= (seats * costPerSeat)

Dim CloseCompany As Boolean = False
Outlets.RemoveAt(ID)

If Outlets.Count = @ Then
CloseConpany = True
End If

Return CloseCompany.
End Function
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Name: Paltry Poultry
Type of business: fast food
Current balance: 8600
Average cost per meal: 5
Average price per meal: 10
Daily costs: 160

Delivery costs: 8.640665
Reputation: 95.64574

Number of outlets: 3
Outlets

1. Coordinates: (806, 390)
2. Coordinates: (40, 398)  Capacity: 126
3. Coordinates: (820, 370)  Capacity: 120
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Name: Paltry Poultry
Type of business: fast food
Current balance: 17006
Average cost per meal: 5
Average price per meal: 10
Daily costs: 160

Delivery costs: 10.30317
Reputation: 95.64574

Number of outlets: 4
Outlets

1. Coordinates: (806, 390)
2. Coordinates: (460, 390)
3. Coordinates: (826, 370)
4. Coordinates: (800, 600)

: 120

120
120

: 120
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Console.WriteLine(’
Console.uriteLine(
Console.uriteLine(

. Add new compar
. Remove compan;

)
. Advance to next day”)
Console.tiriteLine("Q. Quit")
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case "4”
addcompany();
break;
case *s"
String nanc0fConpany;
do {
Console.urite("Enter conpany nane: °
naneofConpany = Console. readLine();
index - getIndexofConpany(nane0iConpany);
i (index > 1) {
companies. remove (index);

1
} while (index
break;
case "6”
processDayEnd();
break;

-1 88 ! (name0fCompany . toUpperCase() . equals("CANCEL")))




image44.png
=== Details of all companies: ***

Name: AQA Burgers
Type of business: fast food
Current balance: 86000.0
Average cost per meal
Average price per meal: 10.0
Daily costs: 100.0

Delivery costs: 33.661526
Reputation: 94.51912

Number of outlets: 7
Outlets

1. Coordinates: (200, 203)  Capacity: 120
2. Coordinates: (369, 987)  Capacity: 1.

3. Coordinates: (50, 500)  Capacity: 120
4. Coordinates: (305, 303)  Capacity: 120
5. Coordinates: (874, 456)  Capacity: 120

6. Coordinates: (23, 468)

7. Coordinate:

(a2,

318)

city: 120
Capacity: 120

Name: Ben Thor Cuisine
Type of business: named chef
Current balance: 85400.0
Average cost per meal: 20.0
Average price per meal: 40.0
Daily costs: 100.0

Delivery costs: 0.0
Reputation: 102.05345

Number of outlets: 1
Outlets
1. Coordinates: (399, 808)  Capacity: 3
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Enter your choice: 5
Enter company name: CANCEL

TR e——
1. Display details of households
2. Display details of companies
3. Modify company

4. Add new company

5. Remove company

6. Advance to next day

Q. Quit
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Public Function GetBalance() As Single
Return Balance
End Function
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Console.MriteLine("4. Add new compar
Console.WriteLine("s. Run to target”)
Console.WriteLine("6. Advance to next day")
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Case
AddConpany()

Case 5’
RunToTarget()

ProcessDayEnd()
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Public Sub RunToTarget()

Console.urite("Upper Limit: ")
Dim UpperLimit As Integer = Console.Readline
Console.urite("Lower Limit: "

Dim LowerLimit As Integer = Console.Readline
Dim Number0fDays As Integer = @

Dim ¢ As Company.

Dim CompanyName As String
Dim Balance As Single = @





image50.png
For 1 = @ To Companies.Count - 1
¢ = Companies(i)
If c.GetBalance() >= UpperLimit Or c.GetBalance() <= LowerLimit Then
Companyliame = c.Getlame()
Balance = c.GetBalance()
End If
If Companyame Then
Number0fDays += 1
ProcessDayEnd()
End If
Next.
Loop khile CompanyName =
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Console.WriteLine("Company:
Console.WriteLine("Balance:
Console.uriteLine("Days:

& CompanyNiame)
& Balance)
& Numberofoays)
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Company: Ben Thor Cuisine
Balance: 100505
Days: 19
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Class Citysettlement
Inherits LargeSettlement

Public Sub New(ByVal ExtraXsize As Integer,
Extravsize As Integer, ExtraHouseholds As Integer)
MyBase. New(ExtraXSize, Extra¥Size, ExtraHouseholds)
End Sub

Public Overrides Sub AddHousehold()
Dim NumberOfHouseholds As Integer
Dim X, ¥ As Integer
GetRandonLocation(X, )

For 1 = @ To NumberOfHouseholds - 1
Households.Add(ew Household(X, Y))
Next.
End Sub

nt(Rnd() * 19) + 2

End Class
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Public Overridable Sub AddHousehold()
Dim X, ¥ As Integer
GetRandonLocation(X, )

Dim Temp As New Houschold(X, Y)
Households. Add(Tenp)
End Sub
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Public Sub New()
FuelCostPerUnit = 0.0095
BaseCostForDelivery = 100
Dim Choice As String
Console.Write("Enter L for a large settlement, C for a city settlement, " &
nything else for a normal size settlement: ")
Choice = Console.ReadLine()
If Choice = "L" Or Choice = "C" Then
Dim ExtraX, Extray, ExtraHouseholds As Integer
Console.Write("Enter additional amount to add to X size of settlemen
ExtraX = Console.ReadLine()
Console.urite("Enter additional amount to add to Y size of settlement: "
ExtraY = Console.ReadLine()
Console.urite("Enter additional number of households to add to settlement: ")
ExtraHouseholds = Console.ReadLine()

")

If Choice = "L” Then
Simulationsettlement = New Largesettlencnt(ExtraX, ExtraY, ExtraHouseholds)
Else
SimulationSettlement = New CitySettlenent(ExtraX, ExtraY, ExtraHouseholds)
End If
Else

Simulationsettlement = New Settlenent()
End If
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Public Sub ModifyCompany(Byval Index As Integer)
Dim Choice As String = "
Dim OutletIndex, X, ¥ As Integer
Dim CloseCompany As Boolean
While Choice <> "C" And Choice <> "1" And Choice <> "2" And Choice <>
Console.WriteLine(Environment.Newline & "sressrrrrrrrrrrrrrrrrrrrrrrrrrreer)

Console.WriteLine("******* MODIFY COMPANY *+eeeesv)
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Else
Console.uriteLine("Invalid coordinates.”)
End If
ElseIf Choice = "C" Then
Console.WriteLine("Operation Cancelled")
End If
End while
Console.kriteLine()
End Sub





